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1.
Rappaport, 2nd ed., p. 168, problem 4.1.

2.
Find the directivity D = D(n) of an antenna pattern described by dP/d( = cosn(, forward only (i.e., for 0 ( ( ( (/2 but for all azimuths 0 ( ( ( 2(). The answer should be given as a function of the integer n.

3.
Suppose we succeeded in generating a sectoral radiation pattern for a wireless cell that were described as follows. The pattern is uniform (i.e., a constant) in all directions within both the horizontal sector  0( ((((((((((  and  in the range   80( ((((((9((  of elevation from the vertical; it is zero for all directions outside these intervals. What is the directivity (in dB) of this pattern?

4.
The CTS satellite has an 11.7 GHz transmitter on board, which provides 200 mW to its 19.3 dB gain antenna. What power (in watts) can be received by a ground station antenna (a 3.66 m diameter parabolic reflector) with 50.4 dB gain? The satellite is in synchronous orbit 36,941 km above the ground station.

5.
Rappaport, p. 168,  problem 4.10, but replace the word “below” with “above” – that makes the problem less ambiguous.

6.
Rappaport, p. 168,  problem 4.11.   For “appropriate” read “approximate.” The question is asking at what (horizontal) distances the direct and the reflected signals cancel each other, leaving a signal null.

